CAT.NO.| SIZE A B C D E F G H
2041 | 1-1/4" EMT [:1,,-85_1] [2-?_68] [-10_21 [6.2663] [5-59_8] [;‘3-22_2] 1/4-20 X 1-1/4 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
2052 ?g%l\éva [1'3_76] [1'3_51] ['193] [6.2663] [Eoo_g] [2'2?9] 1/4-20 X 1-1/4 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
203 | A EW [2-2% [1-5_51] [-10_6‘] [6.2663] [527-_2677] [;-81_8] 1/4-20 X 1-1/4 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
2054 | 1,EMT [;'60_% [1'5_51] ['193] [6_2663] [5'456] [:13-12_2] 1/4-20 X 1-1/4 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
2055 | COVEL Gody | 21 | (a1 | 605 | 859 | (463 | 1/4-20 X 1-1/4 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
2056 | 1-1/2" HW [21-78_% [2-2?9] [-10_21 [6.2663] [8-78_21 [411&39;] 1/4-20 X 1-1/2 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
20s7 | 2T AW [2-55_21 [;-01_8] [-10_21 [1-2_10] [1529_00] [gf_j] 5/16-18 X 2 CARRIAGE BOLT STL. ZINC GALV. | 5/16-18 HEX NUT STL. ZINC GALV.
2058 e [525?9] [2-2?9] [-10_21 [6.2663] [14(5;?4] [gﬁ’] 1/4-20 X 1-1/2 CARRIAGE BOLT STL. ZINC GALV. | 1/4-20 HEX NUT STL. ZINC GALV.
20s9 | o HV [3'32_?] [;,'01_8] ['192] [1'2.101 [154'2_31] [ég‘f;] 5/16-18 X 2 CARRIAGE BOLT STL. ZINC GALV. | 5/16-18 HEX NUT STL. ZINC GALV.
2060 | 21727 HW [357;] [;g'g] [-10_21 [1-2'10] [165;901 [gffg] 5/16-18 X 2 CARRIAGE BOLT STL. ZINC GALV. | 5/16-18 HEX NUT STL. ZINC GALV.
2061 Ay [141'451_16] [;'01_8] ['192] [1'2_10] [178'1.44] [g'c;_t?-,] 5/16-18 X 2 CARRIAGE BOLT STL. ZINC GALV. | 5/16-18 HEX NUT STL. ZINC GALV.
D
T |
B i
ik
|
\
| '
G
-l Pt
L0000 .
|
C — ol H
NOTES:

1. ALL DIMENSIONS ARE IN INCHES AND [MILLIMETERS]

2. UL &cULus LISTED

LIST OF PARTS

MATERIAL FINISH
STEEL
STEEL
STEEL

DESCRIPTION
HANGER BODY
CARRIAGE BOLT
HEX. NUT

INITIAL RELEASE F.P
SYM. REVISION DESCRIPTION APP DATE

THE DESIGN AND DIMENSIONS OF THE
PRODUCT SHOWN ON THIS DRAWING ARE
SUBJECT TO CHANGE WITHOUT NOTICE

TITLE:

CONDUIT HANGER WITH BOLT

TOLERANCE UNLESS
THERWISE SPECIFIED d
OTHERWISE SPECIFIED South Bend, Indiana

DRAWN BY: FP

APP. BY: XX,
DATE: 08/19/2015

XX DECIMAL+£.015
XXX DECIMAL +.005
ANGLE*2°

1:1

GALVANIZED

GALVANIZED
GALVANIZED

SCALE:

- "ON 3714

SNO 1109 HLIM 439NVH

'ON "1VD JO4 133HS NOISNIWIA

14VHD 33S

SIZE:



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


